p o=t 1 2-1

REI30050) 110 2qn 4 B R MR AR~ oot | Y2
= >

1102 B & + e+ & §

o owu b CHmA R YR
% IR
P okl
* poiiikgs §
TRER L2 R B
AR T OFUR*FTFIFEE -
(O)F & F)AE 5 fFéEE»“ MRATATEEZ A EREA D ARE b A
SN AR R

SES U E R é?g‘ﬁxg;};wf e AEY FIEE o
k2 % B p=1000 kg/m3~ k2 F#F R v=1.12x100m?/s ~ £ 4 4cid B
g=29.81 m/s? > ﬂfﬁ;ﬁ— 1 (TR R o T %%/E;L);'Jﬁ’iié:@ﬁi .

- BT TR W PRR RS e R T R L
/J\}{"’vra»,é;,\ﬁ:l],—}lp ?KIF’H’ é_?;?i’&ﬁf’;x’&&* -ﬂ J}Z'“Sra»&\"—;l]é.

FORAFEELAPMPER csg s e (254)

ISR
Mg 12m
]
k sg=0.90



£ 55 1 30650
F:2-2

s Ao Bl AT 0 k2 iR B % 5.55%10° mdfs o # /2 5.00 cm > T’}iﬁ%’ﬁﬁti &k
v AR ERAR A 5 180m s R4 v L d b ki kG kBT A 5 3.60m
RRRGEL ARG LR QO RGEL PP F 5P RGE LR DS
P LR ORET AL RRES L ORNT EZRES S0 (254)

»

popg
12 m
EN - 55 1,

n-

3m

oG- R EKT RS B fli’?‘}‘?’jﬁch"?"ii:xﬁ_yk* 2Tk fk
2 E B 5300m- 2 ¢his s 22.0cm e iR ok T o L 4.00ms e %k E
Th Aok R e

P—E-I—J ',J-ﬁ;t:‘} 1.10 ’ ’}\ '/H‘L—” ra’;’-t-?’](? #E’ _i_:'_!%_ 0 éé‘j\/a J\
m? (254 )

P ﬂ&r@'ﬂr—r oRT G Fog - B et g G 51.3x10°m?/s»

g 8.88mfs o fovk Bk o Féﬁﬁ;_ﬁ%#gﬁg«l RiE* 4 5 HALLZ 2 o
‘f'—alj,alv (7 (25/4:\)

f




